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g/ot2| MEIALR | 1Y EE | AR | 12 oE | ARIEE | 1Y o
Zehustar | MEa(g) | mEMMEE | MFU(g) | TousE | HHU(g

100 * %21% 21.0 * *%20% 20.0 19% 19.0
102 * %21% 21.4 * *20% 20. 4 19% ] 1‘9.4
104 * %21% 21.8 * % 20% 20.8 19% 19.8
107 * %20% 21. 4 19% 20.3 18% 19.3
109 * %20% 21.8 19% 20.7 18% 19.6
111 19% 20.9 19% 21.1 18% . 20.0
113 19% 21.5 18% 20. 3 17% 19.2
116 19% 22.0 18% 20.9 17% 19.7
118 18% 21.2 18% 20.1 17% 20.1
120 18% 21.6 17% 20. 4 16% 19.2
122 18% 22.0 17% 20.7 16% 19.5
125 17% 21.3 16% 20.0 16% 20.0
127 17% 21.6 16% 20.3 15% 19.0
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F @ H(CP) g/vkel/<d 21+ 20+ 19+

z & g/vtel/ 4 4,2~4.4 4.2~4.4 4.3~4.6
5 ¢ g/vhel/d 0.52 0.51 0.49
U B F(Na) g/ukel/d 0.21 0. 20 0.19
= At g/utel/d 1.74 | 1.68 1.57




